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.?u g

% V A_;, (JF'C\E L= DV - VF -\

\/i-_: \/; J oLt no d J- Ut + L2 o
-l i g

Z
QPfOblCnﬂS \]a/g in PGCKCTS

be ® \/F”

—
6. A motorcyc]e traveling att 12. 6 m/s\'accg_emte&dLa rale 0‘\1 .7 m/s lfmb 4 seconds. | What is its final velocity?
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7. A bullet is accelemtcd from |est at a rate of[400 m/s ﬁ'or&secondq How far did 1t travel while it was accelerating?
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8. An elephant accelerates fromé 0 m/sto 10. m/s at a rate 0{_2_% What is the elephant's final displacement?
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9. A driver brings a car traveling at 22 m/s to al{[u]l stop !n 4.0 seconds.
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a) What is the car's acceleration? €
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b) How far did the car travel before stopping? Z = (Uf: i uf-' >(: Xg L/L{ m
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10. Skid marks left from a stopped car arem% If the car had a acceleration of magnitude 6.0 m/s*

and stopped in(3.0 secondsaj how fast was the car moving initially?
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11. Starting from with a velocity of 2.0 m/s, a lion moves[ 110 m in WWhat was the lion’s acceleration?

Vi=2.0m Lt éL“
5 . :

12. In a historical movie, two knights on horseback start from rest 88.0 m apart and ride directly toward each other to do
battle. Sir George’s acceleration has a magnitude of 0.300 m/s?, while Sir Alfred’s has a magnitude of 0.200 m/s”. Relative to
Sir George’s starting point, where do the knights collide?
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